N
¢ 9 00
E 3 =
S 3=~ |z & %
< R x N SR E
N O G o
2. & =53
©
s osh E £ o @ 3 .
[oNe) ge > m mmd “ m
=g O < ) 3 © ~ €
©OT 2z N ST : =
oo o 5 — (&) < ®» — £ ..M s N S
W) —_ O o an o . & S =S X
SEE _2z E S <o) | 255 1. [
s=zz-828 & e B K IR g | O
ennn 20 Q Wk2 S o WWm..g
—_— 0 0 S== o 26 N & OP.mr.m
O == e 9 S 58 NS z4
88 266 =& 2 Qe S S ) E EE
E=2328 T 3 325 SN e
— S =
EER IS g 2L HEEE
= O -~ Qs
S88 083 & ) PN SN
Z > 222 B N SeYE Izl e
o O S NS g
m %% VLS S o Q. S 370 M
Mo A 4 N < S Sowx
o oo oo > s SRR [
c— e .M.J..J N QO ~ S0 >
o'ega o) < S &+ = -
SPE o h N SR N 2
.82 Naoo v = S.28 £
o (I 1 < LSS i
! v, 583 S8 5
A TN+ R XN
=) ) 2 %Rlo P 38
2 <2
- < ' 3
Z n a = ="
E n 2 AP Hl E E
. i
MR T g LS
S .4 5 B
— u 5 Q. |2 = £l
-
B
n
|
]
]
00°08v+C INDL I .
89°09L [TYUSTT SUU TUU%
Asen *[oid ootuoy
.y 4
G8'09L[[EL09L[ 2L'0 |” 0005
5
wo6'091
WER'6TH+T Wy
wy6'091
WHY [ TH+T Wy
mmmmn Lol £§
WMWWM W L8°90F+T= W mm Am.
WW - ﬂ %ﬁaﬂ“ 28091 [[9S°09L [ 92°0 Tk nOOdO.lOI
WH9'6LE+T Wy o
2

W/L6s]
WG0LE+T- N

%

WZI6st
w00 0SE+T= WA 9G'6G1 [6€°6SL[ LL0

W 66851 4
WO 0SE+T= N

| 00057

=
99.23m

L=

weLgS 1
WEEOTEHT W

2+300

£ E
SSegg WTLST v2esL 69251 550 | g & .oo.oo.|0|
EEEEE - &3
REEa e =8
PR ] ~ S
SETTT 78
e g
. Zg
5 =

20°'8S 1="21 ‘00" L8TH+T NN

WSE'LS T
WRE'TLT+T U

0.37%
0.81%
KR
L=15.97m

W60LST
WS TSTHT- DL

v9'LSL €9 LSL[ 200 | 00057

W 889cl
WHSTSTH= W

1.23%
1.22%

W 69°951

wey9ct
Wi6'61T+H= N

%

2
©
2 2
Mm o
o m
o
&
webost
00 002+ 2= N 61°2GL[68'95L [ 0£°0 [ 0000
weTost
W00 000+ = WL
=
3 &
© S
=] &
i
n
vL9SL [ 2295k L60 [ 0005
weLsSl
W06 ST WL Crlic= NS
wer IFl+T= N
= °
S
[
© 3
o & s
T
&

L6'9G1 [[G6°SSL [T 950 B codo.lOl

6E9S1="21 ‘00" €LO+T W] L wolecl L L L 4
W0 €L0+T= WA 6E°9GL [€6'SSL[T 9¥'0 00°€L’
—__ werssl
ELOHT= N
61°SST MOAM "ZI '67'SST WO[M 21
we')[=71 W9@
nysndazid “u)st JuowwdI

829G [YL'SSL[ S50 | 00057

O t154.01

0.45%

27.92m

R=10000m

L

S
&
<
8
<
E <
S aooss Forsss | sz =i r 8,8.|O:
WY 66611 U L6 6p6+1= N i 3
N
N
[N
o
EE wiQos1 £
“uSEE wgp TRG+T Wy £8
f28g S
PR it
] ;
LgxhN Lbi
[
w3951
WLO'BS6+1 uf
| SISSSl oo b R L 0oncA
T CC T crostflesst [ eeo 0005
~
&
g
° §
LESSI="2169'9€6+T U N m o
fRoexy 1019) pomozad Kotforns) V] 2
I
X
&
©
<?
s
8
3
2
N ks
° woLsst
3w zrosi st 820 r 8,8.|O:
wigost
wEgCRRHT uy ﬁ’
X
N
<
WwL6SSl
soosL[LeosL 20 I 00057
W00 058 +1= L
w99'9S |
WIZR'TER+] Uy
£ E
S8 e, EE
ERte >3
ITypees 88
LE&, 4 / e
3 o1
25 $9°951=71 007 18+1 WM_|N] &
/_\
3
o 1R 8 8
=218 @ 2
Sl [ 3
s|le =
09951 [ozosL [ ovo r 8,8.|O:
&
§
>
%
wES'Ss| |
WL SSL+1= M
WOE9S 1 w pes]
wEQTSLT wny ENEEET]
szos1 [06'ssL [ 80 I 00057
IR
2|
o o
2 e
(=2}
L
=] 8
N
we0ss1 v l . | |O|
0000 1= W cgssL[erssLf €0 0000
=
o 3
[o2} m
e. <
2
WoLpsl
WI7609 7 1= A
WOS'SS 1 °
w0799+ uny 2|15
mw. @
i
£E WHopsl
25 ¢ evesi[eossL[ ve0 | C E I 0007
S EEz s
SnESE &8
b 00059+ 1= ol o8
LLT0T iy sl - 7S
Lg=aN Wy Wy =4
5
M
X
]
s
Wop'SS |
wiZ0E9+T any
08°661="21 06" 79+ wighst 1 | . | ]
o WSSO - W os'ssi[rovsLl suo 0552
weppsl e
® W05 ST 1= &
. % . 3 . B P ¥
> S
[E€7ST MOJAM “Z1 "¢y G MOM “Z S b it
LA LA S
WeQ[=T1Wx090 b
g N
n3Sndazid “ujst JUOLAL S
wiossl
wiTR09+T any
s
8
3
g
WO pel
89551 [00'ssL [ 890 I 00007
EE
m GEEE mm
ZOSES N5
Lumgs 31
L2 e
=g [:4
o) c
&
3
S
g
g
W
5
wzeos|
wgT09S+T
£
&,
&y
i
WSt
wes9s1 sgost [orost | 60 I 0007
WL RPS+] ury

72.78m
000.00m

w8691

L=
=2

KM= 1+512.08m
R

1+500

wolLS1

WO E0S+1 urf
0L'2SL[E8'9SL[ 220 [ oo 8.|O:
ES
[o2}
ks
S
w6951
w6y SLy T Wy ‘
Be
X
kil o
wogesl -
95961 ['62°95L [ 220 [ o00s |
£
0. %
2 g
[
T . &
) —
wze\st
. . WHETer+1= A
8T9S1="21"05'6Th+1 WY W8Sl -act F F oo R
S 82951 [68°SSL [ 660 0562
R
WS 6Th+1= WA
8L'pS1 MOIRA ZI9("CST MO[M "ZLI R
&
N N
WST=T1 W99 . 3.3 .
S
msndazid ‘ws1 Juowal 3 . =
. = ik
R
3
8
¥
w 0SSt
h 96551 [£L9°SSL [ 620 r oo.oo.|0|
q
. 29
WRsSl 4 W
U £0RRE+ 1= L ]
< = €7'56L [¥LSSL[ 620 [ 00057
(=23
= 2 B 2
1) o’ ©°
e
<
3
8
3
?
W 06S T
TWIZ00{ 1= WS 06'vSL[0S'tSL [ 0v'0 r 88.|O:
wg0YST
WOLE6CH1= WL
<
<
S R
) 0LYSL[SYYSLE S20 [ 0005
=}
wishst wgLEST 3
WL SOT+1 Wy WRY'SOT+I= NI <
§
8vvSL [8ZVSL[ 020 r 88.|O:
£E
Sieze
EZSSs
TLE8S
) -
LE N
[
worps1
weyEoT 1 Wy &
<
H
I
2.
AR ’
2 - R
2] VLESL[SYESLI 620 [ 0005
@ E i
2 i
WO eS| N 7
WeE'6T1+1 U 4
3
8
by
wiyzsy el b - Lo .IO:
TO000TT 1= W 98261 [15261 [ S€0 0000
£E £
TaEfs £
SnE2Z 2g
Ipese S8
1gL 5
Y
weeIst
WETE0+1= T
82251 [€6'ISL[ VED [ 0005
R
©
~
o
wszg1 . | |
WZH 1T0+1 uy
s
8
S
2
WSy ok ... L oo .IO:
000007 1= W 16'1SL[SSISH 2v0 0000
ZLISLISEISLT 980 [ 0005
=
s
<
3.
s
8
3
+
&
9vLSL[SLISLI 180 r oo.oo.|O|
< "
o
o
w oSt L | . -
00058 70= W 1215k [r80SL [ 80 000
3
=]
s
8
3
D
&
96051 [15051 [ S0 r oo.oo.|0|
w0051
W 6L 88LH0= AL
02051 [OV'0SL [ 080 [ 00057
RNR
INE B4
NS
o |o
WIT60L+0 uf
8
R
wEg6p &
9v'051 [EE'0SL[ €10 r oo.oo.|0|
W8T669+0= N
2R
DL~
AR
o o
s e
5a
2dzss g5
BLs52 wL6h1 82
b4 £ e © 3
ES T W5 089+0= WL 83
it D L
“2
WiF0S|
WITL'ELY+0 U s
Wiy 0S|
WY TSY+) Wy £
syostfuzostf ero [ S48 [ 00057
wopog1 i
[ ﬁ
s
8
3
P
&
95051 ['62°0SL [ 220 r oo.oo.|0|
85°0S1="21 ‘00 PLSHO N n
£ :
28ce. | B c&
2cESE &8
g2g22 °g
P 3
LEdN 3
zg=- “x
]
15051 [210SL[ 0v'0 [ 0005

0+500

6¥°0GL [¥L0SL[ SE'0 B codo.lOl

wep 0S|
WY SRY-+0 UDf

945.63m

L=

YE'0SL [FOL'OSLT €20 | 00057

0.21%

0+400

81°0GL [FOL°OSL[ 800 B codo.lOl

20°0GL [L8'6YL[ SLO | 00057

0.32%

98'6YL [C96YL[ ¥20 | 007007

¢ 0+300

0L'6YL [9€'6YL[ ¥E0 | 00057

woy'6p1 | : |
wWpE9IT0 Wy *I
3
8
8
X
&
w8yl
W00 00C+0= N3 €561 [81'6YL [ vE0 r 88.|O:
£
P 5
€3szE 8
Iyfes 2 EE
SLTTT < ®S
L g AN o Iy
) o
w gE'gy1 ok o L 0oocd
0008 T+0= AL 10'6vL['8L'8YL [ 080 0008
W68k 1 '
WP LET+0 Wy ° <
% &
weL gyl - wZo8y1 =
W6S6C1+0 UhY TR 6C1+0= WX
2.
@
©
=
o
8
T
&
EE w gyl
S9gss . T 0000170= W3 eyl [Lzsvl [ 610 mm r oo.co.IO|
§%28% [ B 82
IL3¢° s8
- JORAY £E°8Y1="21"00"€60+0 WY N §e
=% % .4
“2
ws0'sp1
wWSEE90H0 WY
woELYT 1 | |
W00050+0= 3L S6'LYL[OLLYL [ S20 0008
g=
LR "
o
R
o
~
° WIL61070= Wl
mo OOO—. OQ W 9gupilieovt] 690
fo1d d2
|
G'Op] MOJAM "Z1°(9°Qp] MO[M ZI 8 s |2
759p1 Mol 09'9p1 Mo} el = S|
—_— ol =z |g|T|Z
WEg=T1 W09 Sle|5|g|2|8
g —| 2 = c s —
njSndazZId *u)st JUowAI n|lEle (B> ]3 s
) ) 3 < < <] =
alelslel2|e|g|8
. | o
S S R I =l
o o o w w o ¥




